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QUESTION 1

Which two series support RAID 5 configuration for CM6.0? (Choose two) 

A. S8730 Server with 8 GB RAM 

B. S8800 Server with 12 GB RAM 

C. S8510 Server with 8 GB RAM 

D. S8300D Server with 8 GB RAM 

Correct Answer: BC 

 

QUESTION 2

A switch administrator wants to busyout trunk 530for maintenance and administration work however, there is one call
active on port 5 of the trunk 

Which command should be extended from SAT terminal to find out IP addresses and port of the near-end and far-end
node of the auto connection? 

A. Status trunk 53/5 

B. List trace port 53/5 

C. Display trunk 53/5 

D. Display trunk statistics 53/5 

E. Status port 53/5 

Correct Answer: A 

 

QUESTION 3

A customer has selected Avaya Aura CM_survremote_embedded template. 

Which Avaya server should be used? 

A. S8730 Server 8Gb RAM 

B. S8800 Server 

C. S8510Server with 8GB RAM 

D. S8300D Server 

Correct Answer: D 
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QUESTION 4

Which screen is used while upgrading the system platform from release 6.0.0.09 to release 6.0.0.11? 

A. Communication manager Web interface 

B. Console domain Server Management Path management 

C. Console domain Server Management Platform Upgrade 

D. Console domain Virtual Machine Management 

Correct Answer: C 

 

QUESTION 5

Which three objects can be downloaded from the product license delivery system (PLDS)? (Choose three) 

A. Authentication file 

B. Patches 

C. Firmware updates 

D. PuTTY 

E. Communication manager templates 

Correct Answer: BCE 

 

QUESTION 6

Which statement describes how the licensed mailboxes are enabled on a communication manager messaging
application 6.0? 

A. Mailboxes are enabled in the communication manager 6.0 license file. 

B. Mailboxes are enabled by a separate license that needs to be generated anddeployed. 

C. Mailboxes are enabled by default. 

D. Mailboxes are enabled in the system Parameter features form. 

Correct Answer: B 

 

QUESTION 7

To ensure the communication manager messaging application is working, what are three tests that can be performed?
(Choose three) 

A. Call one of the two stations that you set as subscriber to the messaging server, and let the call go to coverage 
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B. Leave message on a covered call and verify that the message waiting indicator (MWI) lamp on the receiving
extension is lit. 

C. Call the station and after the call is answered leave a message. 

D. Call the messaging hunt group from any of the stations to ensure it is answering. 

E. Log into communication manager messaging to verify CDOM is running. 

Correct Answer: ABD 

 

QUESTION 8

On a media gateway G450, which slots are permitted for the MM 342? 

A. V1 and V2 

B. V6 and V6 

C. V3 and V8 

D. V5 and V7 

Correct Answer: C 

 

QUESTION 9

A small enterprise customer needs 450 SIP /H.323 users. 

Which CM 6.0 template will be the most economical solution? 

A. CM_Simplex 

B. CM_survRemote_Embeded 

C. CM_Duplex 

D. CM_onlyEmbeded 

Correct Answer: D 

 

QUESTION 10

A user at extension 1111 complaints that when dialing extension 2222, the call is the call is unexpectedly answered by a
person at extension 3333. All other calls made are connected as expected. There is not display on the phone. While at
the SAT, the technician has the user repeat the call to extension 2222 

Which command identifies the reason this phone call is behaving in the expected way? 

A. List trace station 1111 
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B. List trace station 3333 

C. Status station 1111 

D. Display station 3333 

Correct Answer: A 

 

QUESTION 11

Concerning the type of integration with communication manager, on the navigation pane, where us the communication
manager messaging 6.0 application mentioned or configured? 

A. Click the system wide Messaging parameters, than switch integration type field. 

B. Click the switch link administration, and then switch type. 

C. Click integration type 

D. Click Switch link administration, then switch link admin, and then switch integration type field 

Correct Answer: D 

 

QUESTION 12

A customer has a communication Manager R6.0 system with IP phones and some older TDM phone, and says there is
no dial tone for all of the IP phones. All of the hardware has been verified to be working properly. 

Which two steps can be taken to identify the cause of problem? (Choose two)] 

A. Verify that the TN2602 Media resources circuit pack has the correct IP settings. 

B. Verify that the processor Ethernet mode is enabled in the Server. 

C. Set a static IP address on a laptop and see if the server can be pined 

D. Set a static IP address on a laptop and see if the TN2602 Media Resource circuit pack can be pinged. 

Correct Answer: AD 

 

QUESTION 13

When configuring a G450 Media gateway, which two port settings must be set? (Choose two) 

A. FTP Server 

B. 100 MB port speed 

C. Auto-negotiation enabled 

D. Full Duplex 
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Correct Answer: BD 

 

QUESTION 14

Which three servers can be upgraded to communication manager Release 6.0? (Choose three) A. S8300C 

B. S8300D 

C. S8510 

D. S8800 

Correct Answer: BCD 

 

QUESTION 15

When using the Avaya Site Administration GSDI interface, which command would be use to built a new telephone set
with the extension of 1000? 

A. New station 1000 

B. Add station 1000 

C. Build station 1000 

D. Add set 1000 

Correct Answer: B 
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